Homework 3




Homework 3

A Slave NS Implement
« NS =2V 2 a3k
e dns.he.net or others
* P8 ns WEAKNKKEDT
» SOA must have same Serial number
o FEEEEWERNMAE Authority name server —
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0 ~18 Open Recursive
e We will check from some where



Homework 3 - Cont.
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Q Allow M3lI|E# o]l Recursive Query
e 140.113.235.102
* 140.131.150.111, 2001:288:1009:1150::111
 140.113.168.158
 140.113.168.154
 140.131.188.41

1 Zone-transfer

A0 open zone transfer (check from somewhere)

o NAIFE#OIPL zone transfer
> 140.113.235.102
»>140.131.150.111, 2001:288:1009:1150::111
»>140.113.168.158
»>140.113.168.154
> 140.131.188.41



